Lösungen
Hörverstehen
	1
	2
	3
	4
	5
	6
	7

	a
	a
	b
	a
	b
	c
	b



	8
	9
	10
	11
	12
	13
	14
	15

	b
	a
	c
	b
	a
	d
	a
	d




Lexikalisch-grammatische Aufgabe
	1
	eine

	2
	ist

	3
	liegt

	4
	nach

	5
	en

	6
	als

	7
	leben

	8
	des

	9
	e

	10
	dem

	11
	stadt

	12
	s

	13
	ste

	14
	Besuchern, Touristen, Menschen

	15
	aus

	16
	zu

	17
	für

	18
	Schiffe

	19
	größte

	20
	wurde



Landeskunde
1. a
2. b
3. b
4. b
5. b
6. a
7. c
8. a
9. b
10. c

Leseverstehen
I. Teil
	1
	2
	3
	4
	5
	6
	7
	8

	A
	B
	A
	B
	A
	A
	B
	A



II. Teil 
	0
	9
	10
	11
	12
	13
	14
	15
	16

	GA
	F
	K
	B
	E
	I
	J
	C
	G





